Verhaltnisgleichungen

Gleichungen, deren Nenner keine Variablen enthalten

1. a) 3—X=6 b) 8—X=16 C) ﬂ=8
5 15 7
) 5-5% o) ZX_g f X _og
9 3 15
2. 5 X_5-8 by X_7-8 ) 4+ _16
3 2 7
d) 2+2=10 o) X _1-32 § Xi16-41
2 11 9
3. a) §+§:18 b) i_ﬁzg c) §_§=2
5 4 3 5 3 7
d) 2+2X-26 e) X4+ X_3 f X X_3
8 5 12 15 6 8
4. a) 5_X+2_X=6 b) %_2_)(:3 c) 5_X_3_X=5
6 3 5 3 8 4
dy X_X_ 3 o) X X _1g § XX _y
7 3 3 5 5 3
5. a) 3X_1+X_1:6 b) x+5+3x+12:11 o) 3x+4_4x—1:3
5 3 2 3 2 3
d)3—X+1OX+4—7X+2:7 e) 5x—10+2x+4:9 f 4x+2+x+4:5
2 3 4 6 5 11 3
. Xx+5 x-5 3Xx-3 5x+7 4x +2 6Xx+17
e 1RSAR b) = c) -
3 2 24 56 3 8
d) x—4:x—1 e) 2x—2:3x—2 f) 2x+5:8x+6
2 3 3 6 3 5
7. a) x—3_x+2:12 b) 5x—7+21+2x:14 C)3_x_x+6:24
6 8 4 5 4 14
d) 1Ox—1_2x+7=20 e) x+2_x—3= f x—3_x+3=8
9 3 24 16 3 13
8. X-9 3x-4 2x+3 3x+5 5x+15 2x+3
a) + = b) — —
3 4 3 4 20 5
o) 3x+1+x—2_4x—5:2 d) 7x—3:2X_9x+9
4 3 5 6 12
7Xx-5 5x-3 3x+5 X+1 X-2 X—-5
e) = + f) —- =2+
2 2 5 2 3 4
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